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3eafdt & AU 3fere/instructions to the Candidates

I, 3T GERT AF IMdeA F Y¥Ad U AT -GS 3T F HUR W fafed
afler & T AT AT 9 ¥ I 3e 99 # areg yfafe @ B I faead &
HTHR_ 3RS Aear J8) W § o 9y s afidr 3rediehd By St

You have been called for the written test based on the online data furnished by you in the web application. If

you have wrongly entered in the web or you do not possess the required qualification as per our

advertisement, your candidature will be rejected.

9. udieT g & detsd &Y 3uRRUy F & U gid-Ree/HITE W gEARR Ll agu|

You should sign the hall ticket / photograph only in the presence of the Invigilator in the examination hall.

3. WS- 60 WAl & Jokd YeA-GRECAR F T H gl

The Question paper is in the form of Question Booklet with 60 questions.

4, 9T & 3o &7 & AT o197 NTAIN SccR-FREcahT &1 Swan |

A separate OMR answer sheet will be provided for answering the Questions.

5. W g A F Al vea-gi¥awr Aol wis (WE/EE), SR Scak GREdHr X
Efése wurer @ forgen =rigu)

Question booklet series code (A/B/C/D/E) printed on the right hand top corner should be written in
the OMR answer sheet in the place provided.
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10.

".

12.

13.
14.

15.

UREA-GIECThT 3 YT ATH TN 3egshaich Tl fordd|

Enter your Name and Roll Number correctly in the question booklet. o

INTANR SecR-qiecsr # gelr yfafsear drel/Frel T & afd e 9 & @ &1 S
| :

All entries in the OMR answer sheet should be with blue/black ball point pen only.

7g g7 FuiRa avgar & 3R W, Af@a e 9 3cad & ary aegiass w9 A

gefl, Sietd & dhaer U 3wfeTy &9 & Her giemm|

The written test will be of objective type based on the qualification prescribed for the post with four answers
indicated, of which only one will be unambiguously correct.

39T, Scar-Jiecer & U v sepeei & AR, sAei/Rel TRl & sl 95T 9
HTAIR SecR-YREcTT F Tt Hfaer Hr 3ifhd FIh TEl Scak T 9T FET &

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by
blue/black ball point pen as per the instructions given in the answer sheet.

T 92 & foIT 3% 3ca] Toid AT S0 ITeld_3cail & [olU SIEId 37ah o6l fedr
SITadT |

Multiple answers for a question will be regarded as wrong answer. No negative mark will be given to
WIONg answers.

fofa el Heeidrel gld & 3ieY HUACY, Hleihelel, AlGSe Bid JUl 3= Felael =1
ST, UIST-9xdh, sAle e oflel 6T AeTAld ARl &l Siee|
Computers, calculators, mobile phones and other electronic gadgets. text books, notes etc., will not be

allowed inside the written test hall.

_qfedehl & I FH B2 A A -

e fordiars t AT ot gud 9fd smad o @)
On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand
over the original OMR answer sheet to the invigilator and retain the duplicate copy with you.

Uee-qiecenT 38Tl 3T I W Fehd! B
The question booklet can be retained by the candidate.

el & weE 62 & o sl # ofe af e & ey ad

Candidates are not permitted to leave the examination hall during the first hour of the examination.
3Tl BT b /earagTen/aTH T TET/HETICHR & T /shlel-3e1 lel & folT
8 forf@a odretr =rens S 81

The written test is conducted only to shortlist/screen-in the candidates for medical/practical/endurance
test/interview.
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Y2A-99 — WIRRAA/Questions : Fireman A

vF FR 30 BRI 1 oAy & 9 e §1 v e 7§ g IR FT|
A car is travelling at a speed of 30 km/hr. The distance it covers in 1 minute is

(a) 30m {(b) 300m (c) 50 m (d) 500m

qree A A g glearer Terdisl : & HiEeT ®9 8

LPG used in cooking gas is the short form for

(a) Tofeas 9giar MM/Liquid-Petrol Gas

(b) ffFawrEs dafaas fa/Lliquefied Petroleum Gas
(c) Tofeas ggifegs /Lliquid Petroleum Gas

(@ ffFawEs dore iLiquefied Petrol Gas

FAH FiA-A1 U faegd g 7

Which of the following is a good conductor of electricity.

() fE@A=/Ceramic (b) volf¥eH/Plastic  (¢)  FETI/Paper (d  =YSilver
Y goar AW ‘ gl is the lightest gas .

(a) TFesi/Krypton.. (b) @fT@#@/Helium  (c) JFds/Oxygen  (d)  @TSsie=/Hydrogen

U Ot 7 cafad glar § a3t Fuedar gt B goar # gl

Petrol floats on water because its density is than water.
(a) &I/ Lower (b)  3Tadi/Higher
(¢) THAW/Same (d)  39dwd A U M A¢/None of the above

W HRT F JRIA FT 17 § “Faage |

“Mangalyaan” was the name given to India’s mission to

(a) =E/Moon (b) #HIFYMangalore (c) HNVenus (d)  #HIrdA/Mars
arg & eafey & aify &1/speed of sound in air is

(a) 323m/s {(b) 323 km/s

() 323cm/s (d) ~ 39gFT A T i 7gi/None of the above
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10.

Il

12

13.

. Objects fall back to earth because of

WURUTAAT 33 fFma wiler § 30T &t g3 S 32

A fire can be generally put out using which of these?

(a) IS SE3TFAEES/Carbon dioxide (b) @I HAFESS/Carbon monoxide
(c) e A=AITgd/Carbon nanotube (d) a1 seid/Carbon black

%&ﬁwﬁa#ﬁaﬁ%wmw# 10000 &1 HUT A1 UF O & € 394 g Ui
I FHAT g

A person took a loan of Rs 10000 at a simple interest of 8% per year. What amount does he have to pay
back after one year. '

(2 %./Rs 18000 (b)  %./Rs 10800 (¢)  %./Rs 10080 (d  ¥/Rs 10008

NaOH T HTEROTaAT Fgd gl

NaOH is commonly called

(a) @fEes FIET/Caustic soda (b) T WEYWashing soda
(¢) SfFTHEEYBaking soda (d)  ITHEVLime soda
Ty, & FROT g2t W w3 FRer §)

() TR g Jel/Electrostatic force (b)  Iecdr we/Gravitational force
(c) 3T Fol/Attractive force d E_Iﬁﬁ'& del/Magnetic force

A HIFT-HT TH saoAder ga §?

Which of this is a flammable liquid?
(a) - =dl del/Crude oil (b)  ATRI FT del/Coconut oil

(¢) THEYFI I/ Kerosene (d  THAIll of these

e & iy F wry U F FEUAE

Boiling point of water will with increase in pressure.
(a) §&IM/Increase (b)  EIM/Decrease
(¢) 3raRafda wamRemain same (d) &gl Wha/Cannot say
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14.

15:

16.

i 78

18.

19,

20.

20 ¥, A F UH URAT UF Fag W IRFAUT AT ¢l 3 GRT R IHd P g, S ooF IR

gt @1 g &, qEd an . X v HEn -

A wheel of diameter 20 cm is rolled on a surface. A point marked on the wheel which is touching the
ground will again touch the ground at cm

(a) 62.8d.H/cm (b) 40 I fr/em

(c) 628.08H/cm ©(d)  3UgFT F U S Ai/None of the above

el WX 3T &1 e AT ST g1

Intensity of an earthquake is measured on the scale.
(a) QFae/Rockwell  (b) @I Ritcher ()  #HE/Mohrs (d  sgBIE/Beaufort
(a+b)? @ fAFaR _ & ®7 & BRaT T wEar B

(a+b)? can be expanded as
(a) 2a+2b (b) a’+b? (0 a?+2ab+b? (d) 2a+2ab+2b

goa wla-ar v 3fFT I §2/Which of this is an inert gas ?
(a) FaANE/Chlorine  (b) §@3atel/Hydrogen (c) yAfea/Ammonia (d)  3ETE/Argon

NN FT GUH 39IE GRS I ¥

The first satellite launch vehicle of India was

(a) WOFTAAYPSLY (b)) THTSE-3 /SLV-3  (c) TUATHAA/ASLY (d  STHETAANGSLY

Jad GROl F 9RT F 1 udiE gl

The symbol for Mercury in the periodic table is
(a} Mr (b} Me (c) Hg (d)  Hm

S e s w gifza ar Sar §, 39 a9

When a gas is compressed, its pressure

(a) §&dT g/Increases (b)  HTdTg/Decreases

(c) 3mufafda @ar &/Remains constant (d) g dAgT Hhd/Cannot say
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21.

22.

23.

24,

25,

FeATeYdT TAfRar 97 8, e

An exothermic reaction is one in which

(a) 19 T AT fHar SI1ar §/Heat is released
(b) 3T FT AT Far SITAT §/Gas is released
(c) T T 3FANUT 3T ST §/Heat is absorbed

(d) 3TIA« ST §/Volume is increased

ngwﬁwga

In a permanent magnet, like poles

(2) TAFT &I E/Repel (b) IS g 6/Attract
(c) TAGL T g/Parallel @  fSEaad §/Gimbal
el sifaAese & wgFd fRU SeEer 9 dEA # 1 gdor v YER & gYor
glar Bl
The rear view mirror used in an automobile is a type of mirror
(2) 3dda/Concave  (b) derd/Planar (c) 3cdel/Convex (d  TOFA/Prism
UF FYATE HT T Bl E
A cuboid has number of surfaces
(a) 4 (b) 6 (c) 8 (d 9
I9IE FAME. T foaTedr F quiey gl
Indian satellite launch PSLV is short form for
(a) WgER WRAE Ater dfgeher/Popular Satellite Launch Vehicle
(b) DT @easT dig afgewa/Peoples Satellite Launch Vehicle
(c) Ty aease dfa afgsa/Precision Satellite Launch Vehicle
(d) 9o FIeaTse diT afgsa/Polar Satellite Launch Vehicle
6 1265FM



26.

27.

28.

29.

30.

31.

AT F 377el glaT &/The acid in vinegar is

(a) I&e 3Fel/Formic acid (b) EREIe 3Fa/Tartaric acid »

(¢) TAfes sFa/Citric acid (d) v 3rFel/Acetic acid

FITEOT a9 gaT & Si@/A solar eclipse takes place when

(a) WF, TG qur gl & & # gldT 8/Sun is between Moon and earth
(b) ?ﬁ,ﬂﬁaﬁﬂ'ﬁ%ﬁﬂﬁmﬁmarth is between sun and moon
(© ﬂiﬁ,ﬂﬁmqﬁﬂ?mﬁm@Moon is between sun and earth

(d) W@,Wmmaﬁmﬁm%&omet is between earth and moon

o @ Y@r & 8 o ¥ ARy vedw dee & @ H gl 3.0 M ¥ A we dur aed unel & e
et glr g

There are 8 posts in straight line. If the distance between each post is 3.0 M, what is the distance between

the 1% and 8™ post ?.
(a) 24.0m (b) 21.0m (c) 30.0m (d) 27.0m

TS Foft a1 faegd S A aRafd R S §

Chemical energy is converted into electrical energyin a

(a) 3IEAAVDynamo (b)y  HRIMotor
(c) Taegd gea/Electric bulb (d)  dedi/Battery
TF GHBIOT FFR0T & BTG DT HI0TAT g7 ¥ H T o
Area of a right angle triangle can be calculated using the formula
(a bxh (b) %bxh () %bxh (d) b'xh
5cm IR & UF ISR H AORATT : gl
Perimeter of a square having side 5 cmis
(a) 20cm (b) 200cm (c) 50 cm (d) 500cm
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32.

33.

34,

30

36.

37.

SAH FIT-AT U saodaI2lie T §?/Which of this is a flammable gas ?

(a) &fegaA/Helium (b)  FEa SBHTFATSS/Carbon dioxide
(c) 3mf=/Argon (d)  #AsT/Methane

S 3T R 9818 & FW S § a9 argHse T g - & 7 &
When you go higher up a mountain, the atmospheric pressure becomes

(a) TE=Ta/Lower (b)  3TaayHigher

(¢) 3mfEfda/No Change (d g AET hd/Cannot say

A9ATH & AT F AT A4 &1

is NOT a unit for measuring temperature.

(a) He=de/Fahrenheit (b) Ficaa/Kelvin
(c) =gEa/Newton (d)  AfeerT@/Celsius

31 el et o IeaaR £7/Which of these fractions have a higher value?

(@) 12 (b) 5/8 () 49 (d) 3/s

WAGITAT Grel g 39D U STarel FTUR0T #7ah gl
Common salt generally used for cooking is

(a) WA FaARES/Sodium chloride (b)  W3TH FaRe/Sodium chlorate
() WfETH FARET/Sodium chlorite (d) Hifsas gehe/Sodium sulphate

UF diqd g A A8feEw wa F Fo 4f B A 1 38 9= @7 pH F gem?

A few drops of Nitric acid is added to a bottle of water. The pH of the water will be

(a) <7 (b) 7

() 7 (d) 39FT # TF M AEH/None of the above



38.

39.

40.

41, -

42.

43.

wwgaﬁaﬁaﬁéﬁaﬁréalé4.0m,a’i§ré2.0mwmél.c)m%lwa‘aﬁr:ﬁrmmaﬁmﬁ

grer & ATET &l

A fire engine has a water tank of size 4.0 m length, 2.0 m width and 1.0 m height. The quantity of water

that can be filled in the tank is

(a) 6000 Litre {b) 7000 Litre (c) 8000 Litre (d) 9000 Litre
Ify R BT & @l A7 R § a3/ T T #FEd &
If all the angles in a triangle are equal, then the triangle is called a triangle.

(a) EHURE/Equilateral (b) ~ EHCAETg/Isosceles

(c) THFIUI/Right angle (d  FAUFH/Obtuse

fasrel 1 T TloE & AEIHA § T WaTg A ST ¢l

Electricity is considered as the follow of through a conductor.

(a) SoagiAl/Electrons (b)  WerE/Protons

(c) URAMI3IT/Atoms _ (d)  3913i/Molecules

The volume of a cylinder can be calculated using the formula

@#Wﬁ@%%mﬁmﬁmwﬁl

(a) 4/3nr? (b) 2mrh (c) nrlh (d) 1/3nr?
TG TR W aigAsd arg # ifeRier & A ;% gl
% of Oxygenby volume in atmospheric air at sea level is
(a) 21 (b) 79 (c) 10 (d) 90
wmaﬁﬁwﬁqﬂmﬁzsoﬁﬁzooﬁwglqﬁﬁmﬁﬁm gl
A student secured 200 marks out of 250 in an examination. This mark in % is
(a) 80% (b) 60% (c) 70% (d) 90%
9 1265FM



44.

45.

46.

47.

48.

49.

ATAT & AT §F TIFT TH ST g

is an instrument used to measure temperature. e
(a) AFFAETThermometer (b)  SFAEYBarometer
(c) A=EEI/Manometer (d)  @EHR/Ohmmeter
FUHSHT TART Uhe TROT B AT I WA dleear gl
Normal voltage in single phase domestic supply by KSEB is
(a) 230V (b).. 440V {c) 110V (d) 11KV

U =afFd 10.30 3REA F 6.30 Gaes aF A I A1 d el =l a qee

A person was sleeping from 10.30 PM to 6.30 AM. How many hours did the person sleep?

(a) 8H=E/hrs (b)  4=e/hrs
(c) 20u&/hrs (d) 16 =¢thrs 60 TATTE/minutes
31S AW FT FUROT A1

Dry Ice is the common name for

(a)  foraTer #F groer T rar ad/Ice dried in vacuum

(b) aFH-AAFF fAUT/Ice-Salt mixture
(¢c) W3i=/Freon

(d) O T sEHFEES/Solid Carbon dioxide

I T FHFIUT BT & a7 Feeey gral & d9s HA: 3 A qur 4 3@ § a1 I§F T fir
TS, g

If the length of 2 adjacent sides of a right angle triangle are 3 cm and 4 cm respectively, then the length of

its hypotenuse will be

(a) 1&HAr/em (b) 7®HA/Cm (c) S &.A/em (d) 12&#Hr/em
qitt & dedi @1 & T &1 sufeafa & gar §1
Green colour in leaves of plants is due to the presencé of
(a) FARIBH/Chloroform (b)  F@iA/Chlorine
() FARIARRAA/Chloromycin (d)  FeRIer/Chlorophyll
10 1265FM



50.

51;

52.

53.

54.

55,

T B GY AR & TIFT T FFAdTen 99 G T

is NOT atype of pump which can be used to pump water. »
(2) WA 99/Reciprocating pump (b)  3IHAT 99/Centrifugal pump
(c) Ui 99/Rotary pump (d  TdaTa 9a/Vacuum pump

P el A 3T JHT S AT &

A fire can be put out by removing
(a) Se=/Fuel (b)  3iTFHTSTA/Oxygen
(c) d¥/Heat (d) 394 geM/All the above
e % # cyFAeT A ¥ w9 F @ o wEar g

The fraction % can be represented in decimals as

(a) 0.75 (b) 340 (c) 3.4 (d) 12.0

(tan 45°) T HeT E1/The value of (tan 45°% is

(a) 45 ) % @ 1 (d) 90

TUH Hed E1/The value of ‘TU is

(a) 22/7 (b) 7/22

() r*h (d) 3UdFd H T 3 A&l/None of the above

Erres TaTafaE AT Sl-ar £2/Which of this is a chemical reaction?

(2) AT T arer A AT 81/Sugar dissolving in water
(b) T e 9818 A A ofgeh SATHT/A ball rolling down a hill
(c) el araR & Aegw § faeTelr &1 ware/Electricity flowing through a wire

(d) e ¥ 9139 9 ST SAFTAV/AN iron pipe rusting

11 1265FM



56.

57.

58.

59:

60.

T R 3 3 T A = ST 50 afadt # 275 & ¥ A9 A Shad ¥ v gt aF & B o
W A TR AT AMMgu? -

In a cricket match a team scored 275 runs in 50 overs. At what rate per over must the opposition team
score to win the match.

(a) >5.5 (b) <5.5

(c) 5.5 - (d)  3udFd F U i A/None of the above

12 It $r aET 5. 60 B € 100 9T H9H has @9 FeEr?

The cost of 12 apples is Rs 60. How many apples will you get for Rs100.

{a) 60 {(b) 100 (c) 15 (d 20

1.0 meEs, 1.0m e 3R 1.0m Fa$ ¥ JFT Th ST & IR F AR |
The weight of water in a tank of size 1.0 m length, 1.0 m width and 1.0 m height is

(a) 10@ed/tonnes (b) 1.0T/tonne (c) 0.1 €d/tonnes (d} 100 &=/tonnes
epTer-ay & A #1 gfe g

Lightyear is a unit used to measure

(a) U aY H IgidTel Wehr/Light falling in a year
(b)  TIST & TR T THF/Brightness of sunlight
(c) R THAF/Brightness of stars

(d) @RI & @rgli/Distance between stars

ﬁ“@]’{gﬁr{ﬁwa‘;mmmmg,ﬁ%

.

Cooking time is reduced in a pressure cooker because

(a) oI UHET F faaRd g1 Srar g/Heat is uniformly distributed
(b) T FT FaUATSH 3fc2d & SATAT §/Boiling point of water is elevated
(c) GId Wil 1 g F=ATcT g/Pressure softens the food-

(d) ST WA UehTaT g/Steam cooks the food

12 1265FM



